FEREFH WD

s (e ] . 135 2FE 3FE it s (o . ] o 135 2FE 3FE it

HENE (BERIH) /& i L) ey e = rerv e poemm = eprere) Py e E=rrees ey ey HENE (BB nEs P iy ] 5 A B ] 5 R | BT o] 5 R T o

RNENREOER WE | AAROLG 1 2: 42| O 2 42 HERFZERET (10) ERZERET 1 |[#%| 2 42| O 2: 42

ABLEE  (14) WME | AADL<FH 2 2 42 21 42 EMZEREY 2 |#x| 2 42| O 2i 42

= WE_[REF1 2. 42/ 0. O 2. 42 ERpeEEy 3 @5 2 42| O 2. 42

i WHE |FEF2 2 42 2 42 EMZEREY 4 |#n| 2 42| O 2 42

53 ME  JRRORDILS 20 42 2i 42 gz 5 |#E| 2! 42] O 2i 42

5] WME 57331 h-33> 21 42 21 42 EAZEERET (17) ZEEETF 1 EE| 2 42] O 27 42

WE | FZBAPIL 1 42 11 42 ZERIEF 2 #Em| 2 42| O 2t 42

e | ZEAFI2 1i 42 1i 42 ZEEEF 3 S 2i 2] O 2 42

ERH\s 10:210] 4 (84| 4:126 14:336 ZEREF 4 s 2 42| O 2 42

NAEDIBEEHEE (1 5) WME[RREIF 1 i 2t 42 O : O 2 42 ZEBET 5 S 2 42| O 2i 42

WE [mREF 2 2: 42 2: 42 ZEREF 6 s 1; 20| O 1; 20

ME [4IEF 1 2 42 21 42 ZEEET 7 S 1i 22] O 1i 22

e |EEBF 2 2T 42 27 42 IRRAREREY 1 |ma| 1. 30 11 30

e |FBF 3 2: 42 2: 42 BHRRATEREEY 2 |Bh 1; 30 1; 30

PEEEEEER) 1i 22 1i 22 5 R 1i 30 1i 30

- g | EHF 1 2i 42 2i 42 P WME  |BRRHMEREREY 3 B 4i 90 4i 90

WE [[EHF 2 2t 421 O 2. 42 5 S 4: 90 4: 90

M wmee=s (1 1) PME | —MRRARET 1 2. 42] O 2. 42 TEEEER (17) HE_ Ao =R’[ 1 42] O 1 42

2 WE |- BERES 2 2. 42] O 2. 42 & PR D =] 1 42] O 1 42

i g UNEUF—33> 1 1 20] O 1i 20 e |BEERTS = 1i 42| O 1i 42

2 g [UN\EUF-33> 2 2: 40| O O 2i 40 e |METR =& 1 42] O 1 42

53 g SR 2 42 2 42 e | FEEERR 1 £S5 1 42| O 1: 42

wME | ERRE 42] O 2i 42 WME | REEIEER 2 ES5 1i 42 O 1i 42

ZEEEmMOEL (2) WE | @Bhes 2R 2t 40] O 27 40 WME | RERERR 3 = 1: 42| O 1: 42

RIZERHEALE PAEEESEIN 2i 80] O 2 80 WME | RERIEER 4 ES5 1i 42 O 1; 42

FEREBOEZR (8) WHE |BEF - NREESF 2i 40 2i 40 e | FEBERKR S £S5 1 42| O 1i 42

g |EFRE 1i 20 1i 20 WME | REEIEER 6 ES5 2i 80| O 2i 80

g |BIRER 1 2: 40 2: 40 e | FEBERR 7 £S5 2i 80| O 2i 80

e |BIRER 2 1i 20 1i 20 WME | REEEER 8 Eix 2i 80| O 2i 80

HREHE (1) E | REE 1: 20 1: 20 FEEEER 9 £S5 1: 40 1: 40

Sriahe DT 8:168] 2 | 42| 161336] 9 188 131300] 6 :160] 37.804 ZERERRE 10 =& 1. 40] O 1 40

ERERER (4) ERARER 1 =3[ 2i 90 21 90

2RIE AR 105 Bfif Mg |BRAREDS 2 e 2 90 2 90

SRIB R 2750 B FPIDE\GT 21:582| 18 :462| 16:498| 13:378| 17:530| 7 :240| 54:1610

ESiET=—ive s 59 Hifi] T 39]960] 24 [588] 36]/960] 22|566] 30]830] 13 [400]105]2750
ESCE1NHE 1554 B
SINRIRH D BATER 6 Hfi]

BEAVE =nbal s 124 B5RE



